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Q1 Which of the following are correct about BCG vaccine ?
(A) BCG vaccine is a live attenuated vaccine.

(B) It is administered Intravenously.

(©) Itis a strain of Mycobacterium tuberculosis attenuated by serial subcultures.

(D) Itis administered immediately after birth.

(E) The immunity may last for 10-15 years.

Choose the correct answer from the options given below :

(1) (A), (D) and (E) only

(2) (A) (C) and (D) o

3 B € (E) Only

(4)  (A) (B) and (C) only

—

Options 1. 1
2.2
3.3
4.4




Q.2 Qummsga
Ul iquied - I g wed - IT
(A) Bme LU S8 @b ) oflsl udl, elgeanbd, o HsHenr.

(
(B) [y Benl GenpuLd ()  ergmwb, erdfl uevg o Gamdreare
(O mme peoL sfluns Cararprg (II) Gsrens, eurhdl, eflésed
(D) Brmig HenL SrenrliLiLTenLD (V) sreCyndl, sawantiled eppdleur

ECp QarRésiiuc Rearar wrpm elenLsaflembg #flwrear efenL_amw Qsfla) Qeliwaid.
) (A)-(IV), (B)-(ID), (O)-(1), (D)-()

=

(

() (A)-() ( -(1), (C) M(D(IH)

(3) (A1), (B)-(D, (©)-D, (D)-IV)

(4)  (A)-(ID), (B)() (€ )(H) (D)-(IV)
Options 1. 1

2.2

3.3

4.4

Q3 wsdaew Gaim Quuirsamer Gsia) Cauis.
(A) pPleiss
(B) eveue
B
(D) gnesid
(E) &adlyar
&Gy @Mr@é’ﬁljuL@d‘rm wrnm elen_safled mHs eflwimar efent_enu Qafley Gaiweyb.
(1) (A), (B), (C) and (D) only
(2 (B, (C) (D) and (E) only
(3)  (A), (B), (D) and (E) only
(4)  (A), (©). (D) and (E) only
Options 1. 1
2.2
3.3
4.4




M aumis upusms SImBS 2 SslTer DAl @) ?

(1) Sjeuerrule 1/4 sam
(2) Sjeueruie 1/8 gm
(3) gleuemguiled 1/8 sam
(4) sleuaguie 1/4 sam
Options 1. 1
2.2
3.3
4.4
Q5

Epssam. Cpmisaild, aps CpisE suss Aabgméamns usid urele DL bmbsTS
Garh&s Ceuam(Hib ?

(1) gesl Gumauudm

(2) @w Qumeuuim

(3) euefl Gumeuudny

(4) <ipe umeuudm

Options 1. 1

2.2

3.3

4.4




Q6 @Quan® mpmsedr §CGp Qsr@ésiul Hererar.
Coenpuiit gapdlariig CrrudlHETar (psa &TrewTong

gamm (1) : auemmigss Ssang ssduLrg, Lsmiss elpasang Go&h aurmg
gamm (1) : Cagglngdlear GCanswang Corenu eurmg), CgrLfeurg LIHSOETE APELD
Qg

@ser oqlinmiuia ECp Aasr@ésiiul(erar wrHm efen L safled (pHg @iflumen
allenLenw Gzfey Gsliweb.

V) smpp () wHpd sby () Gremdid ofl.

(2) spm () whmb Fom (1) Grem@En seim.

(3) smpm (O) &fl, yerred) smpm (1) seum.

4 swmom () seum e gnm () il

Options 1. 1
2.2
3.3
4.4
Y Quéuns wrewuler el aalaueTa ?

(1) 100 &lgmid

(2) 250 &lmibd

(3) 300 &lgmid

(4) 500 &ymbd
Options 1. 1
2.2
3.3

4.4




Q.8

LEpsserellugdler Carmsg) g ?
(1) useler Smibr

(2) u&elleT FmawTLD
(3) u&seller LImeD
(4) useler Gleu el el
Options 1. 1
2.2
3.3
4.4
Q.9 Gpé S sisavduT GLpbmu aTe@Il 6l Siaiunalsg Csnhes Gousm(Hin ?
(1) Qe sy
(2) shssml @b
(3) Wlem ger
(4) g@f gar
Options 1. 1
2.2
3.3

4.4




Q10 (o e cremmgy) ethg o Canssdler sng  Cummer ?

1) smeumsd

(
(2) Q&by
(3) SmSWD
(@) @y
Options 1. 1
2.2
3.3
4.4

1 Which one is the commonest clinical type of shoulder dislocation ?
(1) Anterior shoulder dislocation
(2) Posterior shoulder dislocation
(3) Chronic shoulder dislocation
(4) Recurrent shoulder dislocation
Options 1. 1
2.2
3.3

4.4




a1z g Hlevewsa@ @ ErdlF emm BeEhs: (phleuns 2 dreng ?
(1) B Camib

) Seurear GHmLLb

(3) 2 Geors upu Cebgrmbd (wb gelly) GamLd

) 2eawney GamrLibd

Options 1. 1

2.2

3.3
4.4

Q13 gHge elmsulen aigeud
(A) evQuflssd
(B) Qpeflsuimb
© ga
(D) gevsmih
ECp QarRasiiuc Harer wrhmn eSenlsailalmbs #flwrear elaneu Gsfe) Qaiweb.
(N (4) Ll
(2 (B) b
(®) (O wrEw
(4) (D) wl@b
Options 1. 1
2.2
3.3
4.4




Q.14

“SleusmuysHuwin”’ Qubmeurser wmr ?

(1) AUSGeUT

(2) us@Geun

(3) &a&erT

(4) Feurrser
Options 1. 1

2.2

3.3

4.4

Q15 Bearrs s smpras sTLEHS GKES :

(A) aurs Absid Hrugn
(B) &U eumsld Bri@Lh
(©) Y%s Carub By
(D) SfGsrib BrEb
FCp AasrRssiiuc Rerar wmm el seflell@mbag efiurar allenL_enw Al GQauiwiab.
(1) (D) only
(2)  (A)only
(3)  (B) only
(4)  (©) only

Options 1. 1
2.2
3.3

4.4




Q16  Regarding the pubic tubercle
(A) Provides attachment to the medial end of inguinal ligament.
(B) Superficial inguinal ring is present superolaterally.
(C) Below & lateral is saphenous opening.
(D) It is medial end of pubic crest.

Choose the most appropriate answer from the options given below :

1) (A) ()(C) only

(2)  (B), (©), (D) only

(3) (A )(C ) only

(4)  (B), (D), (A) only
Options 1. 1

2.2

3.3

4.4

Q.17 @rar® gmonsedr &G Qarhésiul (Hererar.
gamnml (1) : srsSrCudl esmu spun® @Qeaars o LFFD.
gmnm (1) : MEUESITTHSD <U&ETIL FamUr( 2 el il @ LiTgiD.
@aar sgliuemLled SCp dar@ésiulferer wrby elenLsafledmbs &flwumer
eflenLenw Gsifley Galiweyb.
(1) sbm () womd saom (1) Grav@n &l
(2) ®po (D) wpgd spm (1) G@rar@o geaip.
3 smpm (0) &fl, germed smpmi (ID) Seum.
(4) smpm () seum eme @by (1) &
Options 1. 1
2.2
3.3
4.4




Q.18 Grueps 2 DuSHEE BrenE cuens SiamidsaneT L (M STFaTons s dlweuiser wmi ?

(1) Fauseurdser

(2) Feuseurdlser

(3)  <wsweursseT

4) oeauCsigsiser
Options 1. 1

2.2

3.3

4.4

Q19 “Qeubfm G456 CeuarHb”, aarm GG sremiu@Bn Crmi erg ?

(1) euml yer GamLb
(2) &mu &Fb
(3) efls Gamibd
(4) SleTueTd &b

Options 1. 1
2.2
3.3

4.4




Q.20  Given below are two statements :

Statement (I) : The exact cause for primary face presentation is congenital disorders of the skull.

Statement (II) : The cause for secondary face presentation is contracted pelvis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4

) Statement (I) is incorrect but Statement (II) is correct

Options 1. 1
2.2
3.3
4.4
Q.21

@Qrar® smomsdr $Cp Gsrhssuul(Rdaretear.  eunmEr @erm, o.midluirear

spprEe|b (A) wHbpreanm srremwrsEa|b (R) o ererer.

spm (A) : smLasalld aafllagdear GurplBés doLsdan Bresams efl
Eelmsssadlmns @&stLBEn QTN FED SN LDILITEIS THE LD
o | GarateusnGé Slmhssrselb s@msUUHEang).

aryend (R) :  senLasefled cuanflagdlen Cumml(Ré denLsdlenn @ resdld Fwub, S&Tb,
&, et (Pseill edlambiser  SaliL il smer.

Gsar sgliumiuila &6 Asr@ésiiul Rerar wrhm ofenLsafled (BHg @iflwimen

eflenemw Ggfley Galeb.

(1) (A) bpmb (R) @rarpid gf. (R), sanm (A) ellear sflurer eflarédswomgLb.
(2) (A) bHmb (R) @ravHbd s, <erme. (R), danm (A) edler sflwmear eflenéswaea.
(3) (A) afl, peme (R) seum.
(4) (A) seum, yarme (R) &l
Options 1. 1
2.2
3.3

4.4




Q22 which of the following is an elongated diplococci, bearing a flame-shaped or lanceolate
appearance ?

(1) Gonococci
(2) Pneumococci
(3) Staphylococci
(4) Enterococci
Options 1. 1
2.2

3.3
4.4

23 ; 2 i 2 :
Q Arrange the aerobic respiration (oxidation) of glucose in order.

(A) Glucose

(B) TCA Cycle

(C) Pyruvic acid

(D) ETC

(E) Acetyl CoA

Choose the correct answer from the options given below :
1) (A), D), © B) E)

(2)  (A) (C) (E), (B), (D)

(3)  (A), (B), (©) (D), (E)

(4) (A), (O, (B), (E), (D)
Options 1. 1

2.2

3.3

4.4




.24 £ ¥ rr
Q In “Colle’s Fracture” :

(1) The proximal fragment of ulna displaced anteriorly
(2) The proximal fragment of radius displaced anteriorly
(3) The distal fragment of ulna displaced posteriorly
(4) The distal fragment of radius displaced posteriorly
Options 1. 1
2.2
3.3
4.4
Q.25

‘FAppraplly’ epellevauler CFliens eremer ?

(1) eupl&wusmml

(2) FwrLss

(3) weawlersd

(4) &HHESH
Options 1.1

4.4




Q26 gpssam anop afl@siu@sss
(A) ysamsmerts Lde) s
(B) mwwmar euflsEener saL Ly S5e
© eurE Ltz
(D) gLbLjevem jLd&ed
(B) ediupéms purE LOS55D
ECp QarRésiiuc Rearar wrpm elenLsaflembg #flwrear efenL_amw Qsfla) Qeliwaid.
(1 Q) (B), (A), (B), (D)

( ( , (B), (C), (D), (B)

(3) (B, (D), ©). (B), (A)

4) (C) (D), (B), (A), (E)
Options 1. 1

2.2

3.3

4.4

Q27 3Gy Qar@ssiul PerarapBia germ, smi uflsmisal us GalsmEeani Gsisg

swrilsstuihdng :

(1) uens

(2) safl

(3) saflby

4) Soo
Options 1. 1

2.2

3.3

4.4




Q.28 According to Rule of Haase the length of the foetus is 16 cm, what is the approximate age of the

foetus ?
(1) 4 weeks
(2) 5 months
(3) 4 months
(4) 16 weeks
Options 1. 1

2.2

3.3

4.4

Q.29 Granr(h epmsar $Cyp AarRssiiul Hererer.
sanm (1) : euafl gw  wepsear Crmuied, auulilp ure Gume CeudTenamurs Hflsea
&mewrLLI(HLD.
samm (1) : Qerswe wepger Crmulle, o drpnse, GCeuafibras, Q,Llﬂlepﬁrr LD @R & T
BmwenLuib.
@gar ogliuaLla &£Cp Aar@ésiul (herer wrpm 6lle L salledmba Fiflwumer
allem_emw Qgfley Qaliwab.
(1) @mpm () whpd spm () Graw@bd sl
@pm () whmb &by () Grevho seum.
gpm (1) #fl, <permed sapm () Seumy.
(

)
)
) )

) spm () seum e spmy (1) s

(2
(3
(4
Options 1. 1
2.2

3.3
4.4




M
2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Q.30 Giran(h epmsar $Cyp AasrRsésul Héarearar.
seavent_LiLy Grmuldler @uich

spp 1) :  QEUGar Aaypsgid, WaEs sy usssgb Cprse. An bl

wamaa@urss snaer Blambdl(msse.

gamm (1) : Amfr @ordsQarary magnturtGs fetrar BraoLgsean, @ilopaer

Corga, Briiyeny erflsea.

Gsar SgluiumLla §Cp desr@ssuulerer wrhy el salled(mhg &iflwmer
eflenenw GQgfey Gsliweb.

&om () whpd &spm (1) GrearGo &l
sapm () wpmd spy (1) GrarGo seu.
ganm (1) &fl, @pemme eanm (1) seum.
ganm () seum arme sganm (1) sl

Q.31

(1)
(2)
(3)
(4)
Options 1. 1
2.2

3.3
4.4

Which of the following coenzyme does not take partin TCA Cycle ?

PLP
NAD*
FAD
PP




1
(2)
(3)
(4)
Options 1. 1
2.2

3.3
4.4

Q32 @Quen®p smpmesdr §Cp QsrRésiul {drerer.
samnm (I) : B BeEre: @D GaTD - samentled @ Umenel &MHmSLb whbmrearm

ellflbgb srewliu®n (ablliue). o L wppenwwbd &l medpliyw,
IOFSSSILD 2 GWTLT(ELD.

Fgmm (1) : Bml Geuflem 2 ullt GumaEb meErflen semey 5 Hrmid

@asear sgliumLled $Cp dar@ésuul(herer wrhy eleLsafledmbg &flwmer
allenemw Qgfley Qelwab.

sapm () wHmib sapm (1) @rawrBid &il.
gapm () wHmbd s&om (1) Grar@in seun.
ganm (1) o, e gbm (1) seum.
sapm () seum <armed sapm (1) &fl.

Q.33

(1)
(2)
(3)
(4)

Options 1. 1
2.2
3.3
4.4

Intramuscular injection can be given in which area of 'giuteal region :

Upper medial quadrant
Upper lateral quadrant
Lower medial quadrant

Lower lateral quadrant




Q.34 ; z -
The events that occur in the virus replicative cycle are :

(A) Attachment and adsorption
(B) Synthesis of DNA/RNA virus
(C©) Uncoating

(D) Penetration

(E) Maturation and Release

Choose the correct answer from the options given below :

(1) (A). (B), (©), (E), (D)

(2)  (A), (B), (D), (©), (E)

3)  (A). (©), (D), (B), (E)

(4)  (A), (D), (©), (B), (E)
Options 1. 1
2.2
3.3
4.4

Q.35  Given below are two statements :
Statement (I) :  Apex of the heart is formed only: by left ventricle.
Statement (II) : Apex of the heart is directed downwards, backwards and to the left.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
4

4)  Statement (I) is false but Statement (II) is true

Options 1. 1
2.2
3.3
4.4




Q.36 Caeqwi gpenmiiug Geiwiu@n ummdelgred upusdad LwearLRssiiu@b
srpsaer auflensliLi(NGg)s.
(A) yeflor seped grm
(B) GeuearGenmpéae sepad Fmm
(O wrellons Geulr LLmLE sy
(D) oadlneellenas smm
ECp Garpasiiu Rarar wrhm eSensailalmbag @#flwrear elan e Gsfle) Qaiweb.

(M (4), (), (©), D)
2) (B (0), (&),

(
3 (©. D),
4 D) ©
Options 1. 1
2.2
3.3
4.4

%37 Below are the causes of chronic renal failtire except :
(1) Tuberculosis
(2) Polycystic Kidney Disease
(3) Renal Ischemia
(4) Renal Calculi
Options 1. 1
2.2
3.3

4.4




. ‘newTh HevenL L’ eremigl @sen Geum Guwi.
(1) euafl seenLLiL
(2) ey SevevenL_LiL|
(3) SBWs FvevenL LiL
@)

Options 1. 1
2.2

3.3
4.4

@ GuetTEmTTS &6beEn LLIL|

Q.39
Cigarettes-in-pack appearance is seen.in :

(1) Tuberculoid Leprosy
(2) Borderline Tuberculoid
(3) Lepromatous Leprosy
(4) Mid borderline

Options 1. 1
2.2
3.3
4.4




Q.40 @ann Crmulpsrar mmg Bl FamuilL 565 Meataupd gwpmiser gflwurareane.

(A) euafl prgwreng ser @LliLsssGs WMl pLédler suefl @erob

(B) Y prgwrens sulpern efremed Muysss Curd giysdean eury @Geaob
Q) aungupb 9ssupd WGHE seliHome il @smoLD.

(D) CGusapld gUIPDd Fnlg@TTED GHEME GO

ECp QanpssiiucRarer wrhm eSenl_seaflalmbag #ilwrear elanamw Cgfea) Qaiweb.
(1) (A) (B) only

(2 (9, (D) only

(3)  (A) (C) only

(4)  (B). (C) only

Options 1. 1

2.2

3.3

4.4

Q.41 “Hypercholesterolemia”-is a characteristic feature in all the following conditions except :
(1) Diabetes mellitus
(2) Nephrotic syndrome
(3) Obstructive jaundice
(4) Hyperthyroidism
Options 1. 1
2.2
3.3

4.4




Q.42 LIgh& &DHU &I&HGSET eTeneu ?

Wlen@, wepger, sOidsmi, G@maed, Geulbly
SHindell, wyepaer, sreaml, Geuliu allsg, sHEST
wrEpFar, sevgnfl wepaar, urdiuuin, Ardae, Wers
seognfl wepger, GCeuliu elgg Gpdel LY, sEésmi Csmed, Wems
Options 1. 1
2.2

3.3
4.4

* Qaflfler -ar w@mBELG Csiiens aarer?
(1) peren GlLmEsE
(2 upm GCprusHol
3) Cuwab Gurss
(4) Hpasodl

4.4




s Cytochrome p#0

(A) They are hemoproteins
(B) They are not inducible enzyme
(C) They are dependent on NADH
(D) Phosphatidyl choline is a constituent of the enzyme
(E) Also called mixed function oxidase
Choose the correct answer from the options given below :
(1) (B) and (C) only
(2) (A), (D) and (E) only
(3) (A), (C) and (D) only
(4) (B), (C) and (E) only
Options 1. 1
2.2

3.3
4.4

Q.45

“gafl euafl”-ereTn GUPRISLILIHLD UG 6Tg ?
(1) mrgeT eumy

(2) &LDMET GUITL

(3) eSlwmer eumyy

4) Apresr eumwyy

Options 1. 1
2.2
3.3
4.4




Q46 Which one of the following is the late complication of bone fracture ?

(1) Shock

(2) Tetanus

(3) Non Union

(4) Gas Gangrene
Options 1. 1

2.2

3.3

4.4

Q.47 Qummsgs
U iguwien - I Liquied - 11
(A) el Qumeuudim M ey @ene cuell, 2 emrey Qeflwng, e, siflFae.
(B) @emnl @ umeuudim) (I) oL FgzHm, L6 WPpHMD ehFFew, semelnisd

(O) &yl Gumeuuldim M) preuml &, sem Aeusse, B Gallams
(D) 2. s’ Quampeuuim V) @m sarseEpd umelpbg, awpar®, &eubsg
Bopse

FCp Qar@ssiiul Herer wrhmn el salelmpg sflumar éflen_amw COsfe) Gadiweayb
M (A1), B)-{), (©)-(1V), (D)-(1)

(2 (A)-V), (B)-(ID), (O)-(I), (D)-(D)

(3)  (AHIV), (B)-(1), (C)-(1D), (D)-(11I)

(4) (A, (B)-0), (C)-(IM, (D)-(IV)

Options 1. 1

2.2

3.3

4.4




Q.48

The Botanical source of Poolankizhangu :
(1) Curcuma zeodaria

(2)

(3) Hedychium spicatum
(4)

Options 1. 1
2.2
3.3
4.4

Kaempferia galanga

Curcuma aromatica

Q.49 Stages of Rheumatoid Arthritis occurs in the following sequences :

(A) Synovium is more vascular
(B) Fiberinous exudate

(C) Pannus

(D) Fibrous Ankylosis

(E) Granulation Tissue

Choose the correct answer from the options given below :

(1) (&), (B), (E), (C), (D)

(2) (A), (B), (D), (E), (C)

(3)  (B), (A), (D), (E). (O)

(4)  (B), (E), (A), (D), (C)
Options 1. 1
2.2
3.3

4.4




M
(2
(3
(4)

Q350 @Quen(p smpmsdr £CGp Asr(Résiul (Hererer.
gamm () : Gamgmo ebbluded eumyy W@,
gapm (1) : Camprw eblude GgsHm o ale CambdmLugme, euml Snés (pigUrg.

@ @gluamiwla §Cp darhssiiulGerer wrpn el saladlmbg &flumear
elenanw GQafle; Gaiweayb.

gom (1) hmd &om () Grar@hn &fl.
spm (T) wpgb sapy (1) Grar@Ge seug.
ganm (1) &, e saom (1) eum.
gann () seum, eme oy (1) @il

4.4

Options 1. 1
2.2
3.3
4.4
Q.51 Pheochromocytoma may be diagnosed by measurement of :
(1) Urinary protein
(2)  Urinary vanillyl mandelic acid
(3) Urinary epinephrine
(4) Urinary monoamine oxidase
Options 1. 1
2.2
3.3




Q.52

SLE GCrmulenen Qumburad @nULg e emme ?
(1) @sw CewalipLiyy

(2) meruired Cewelipliy

3) SAmbrs QewelipLliy

(4) sodre QFwed iy

Options 1. 1
2.2
3.3
4.4

Q.53 Given below are two statements :

Statement (I) : Respiratory Quotient has role in calculating calorie requirements.
Statement (II) : BMR is increased by starvation.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
Options 1. 1
2.2
3.3

4.4




Q.54

“Ulener’’, GTeTmmed GTeoTeT ?
(1) Qe Ceuafl

(2) BHSEUETLD

(3) UL

)

(4) sreumsT(h

Options 1. 1

2.2
3.3
4.4

Q.55

@rE BERESERE@ (WPpileurs Eeainennd CET(HEsmTD
(&) AGsar @b

(B) &enys smL

Q) &&E, upssmm

(D) yiusen Geull Djenfss SHEHD

() Ll omisen @lanadsmm

&Gy Qarpssul_@erer Qgfleysalelmbg sMurar eleamu Caie Qeliwea)b.
1 (©, D), (E

(2) (A, (B)(

(3)  (A) (B) ( )

(4 (B), (D), (

Options 1. 1

2.2
3.3
4.4




Q.56 GQuran® somsdr $Cp Gasr@ssiiul(Rdaretar.  SeuDmEr @erm, 2 miduirer
sahorsEe|d (A) wnbmrerm smyaorsed (R) o drerer.
Fam (A) : uleflsg Ger sissdufanc, Qpaalsseafl, Ceuamysamfl <duicuhnred
< sPlasmerGur, @ remsamerGur o amranr Goue(HLb.

smyenrd (R):  @ensu epeammid WggHans srhdl CElwbd Semein 2 6nl Weanel.
@asear sgliumLled $Cp dar@ésuul(herer wrhy eleLsafledmbg &flwmer
allenemw Qgfley Qelwab.
(1) (A) wpmb (R) Graw®b &f. (R), sapm (A) eflen sflwurer ellaTésnmELb.
(2) (A) womb (R) @reawm®Hb &fl, epermed (R), sapm (A) eflem sflmear eflendswde.
(3) (A) &M, gyermav (R) eum.
(4)  (A) seum, <permed (R) &l

Options 1. 1
2.2
3.3
4.4

@57 Hypoglossal nerve supplies all the muscles of tongue except :

(1) Hyoglossus
(2) Styloglossus
(3) Palatoglossus
(4) Genioglossus
Options 1. 1
2.2
3.3

4.4




&)
(2)
(3)
(4)
Options 1. 1
2.2
3.3
4.4

sryenrd(R)

Q.58 GQuan® somsdr $Cp Gasr@ssiiul(Bdaretar.  SeuDmEr @erm, 2 miduirer
FadOISG|D(A) WLHGEDTETY STraTorsaD (R) o drerer.

apm (A) :  eudlwurarg, @OUANBHE dsraLlb&ss, bl Sdawg

GavGwid Cioggen whmid Qsreniufen 2 1 Li@gd euay Lreyding.

Qg dlemment.

GCored LEdaGh Wil L (méEgh Carsts wpadlwwns Tyy-L, @ BIDLSET

@sear oqlinmiuia &6 Gesr@ésiiul_(erer wrHm efen L safled (phg @ifluimen
eflenLenw Gsfley Galiweyn.

(A) wpmid (R) Grar@in &fl.

(R), sy (A) eler gflwrer eflardsomELid.

(A) wpmb (R) @raw®n &fl, penmad (R), sapm (A) efler sflmenr eflengsnde.

(A) g, pemman (R) seum.
(A) seum, yarme (R) &l

(A)
(B
(
(D

a &

=

(€
2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Q59 g Un(h58|8

U iguied - I

2558l M
@flenag gmoany (1)
eumil elemRIsLD (1)

8m obwrer LFsfdl  (IV)

(A)-(TI), (B)-(D), (C)-(IV), (D)-(I)
(A)-(1), (B)-(1V), (©)-(1), (D)-(1)
(A)-(), B)-(1D, (©)-(D), (D)-(1V)
(A)-(T), (B)-(), (O-(11), (D)-(IV)

uliguie - II

QUBISLD SL_(HLD

@alfsbd s HWD

S raD GniemwwmEh

2 Ui SL(HLD

3Gy Qar(asiul_(Herear wrpm efensefladimbeg #flwrear eflenL_emw Qsfla) Ceiwa)d.




Q.60 Spssar_eupner GHsme cusd Sr Casmpum sadw s G g ?
(1) dflscredl @ene, elemdslsammmlenTi
(2) erm&E Geur, 6flemsols e blewr i
(3) Qpresl @ene, 6flemd 6 semmlemw i
(4) eungwLsd @lene, 6fllems s e blemwri
Options 1. 1
2.2

3.3
4.4

@81 Gga Cagaran”, Cure eflme CQaTHSGL SHULD 6Tl ?

—

) TG

) yrewr gbdCrrswid
3) Gemlsrien

4)

(
(2
(

curl_Gareny &lpmi,

Options 1. 1
2.2
3.3
4.4




M

Q.62 Gran(h empmsdar $Cp Qar@ssiiul [Héarearar.

gamm (I) : Lprasdedlmha Qabileanar 9M560sHEs (pigujib.
samom (II) : Qeby Gerpg sar wrsSeorsamar @@ L SEESH LLaUBHSS
Geueir(p b.

@oen oigliuaiuiiae ECp Lar@assiul Herer wrpm aflen L safledmbg Filumar
allem_emw GQzfley Qaliwab.

syl () wpmd sapyy (1) Gram@d &,

4.4

(2) @mpo () whmd &b 1) GrearGn seup.
(3) @mpo (O) &fl, e sapp (1) seum.
4)  smom () seum, penred sanm (1) &l
Options 1. 1
2.2
3.3
4.4
Q.63 ‘Léveomil Lyt min Lypeumit wrordl’ erewm LTLadler . LEmrib 6rg?
(1) Cgeurpid
(2) Smeurgsid
(3) Sowpgro
(4) Fmellenemumed Ljyremrid
Options 1. 1
2.2
3.3




Q64 “Sweating while eating” is the condition occur in :

1) Sjogren’s Syndrome

(
(2) Chorda Tympani Syndrome
(3) Hyperhydrosis
(4) Mumps
Options 1. 1
2.2
3.3
4.4
Q.65

All are nerves of Brachial Plexus, except :
(1) Long Thoracic Nerve

(2) Supra Clavicular Nerve

(3) Phrenic Nerve

(4)

Options 1. 1
2.2
3.3
4.4

Dorsal Scapular Nerve




Q.66 i " i
Lactose intolerance is caused by the deficiency of :

(1) Lactose
) Lactate

(3) Lactase
)

Casein

Options 1. 1
2.2
3.3
4.4

Q.67 @ e FnbmiseT &GQ QaerHsslul(heTemar.

samm (1) Caenpui sfledd mredler Ly 21978 BEpdlDE #6@ SI6T, BEps (poleursy
vwearu (& mg).
samm (1) : SEHFT BEhe WpHelnE F&6@ sagmubd LwerHdng.

@sar oiglua e ECGp AarhassiulBerer wrpon el sallad@mbg &flurer
allenemw Qzfey Qaliwab.

1) smpm (O wppd sbp (1) Granid ofl.

(2) epm () wHHD spy (1) GrawBo seum.

(3) @mpm O &fl, yerred sapm (1) seum.

4) snm () seum arme sgnm (1) sl

Options 1. 1

2.2

3.3

4.4




Q.68 Sipsaam_supmieT “euiddl emeussn” 6he euamsITar L Whdgie Sdldmaen Cambsg ?
(1) Upd OB @b
(2) Gl ghu®BSSHD LD DHSSHeILD
(3) &slgos
4) sarafledBD OMmbaSET
Options 1. 1
2.2
3.3

4.4

Q'69 - - - - - -
Metastatic calcification is seen in :

(1) Williams Syndrome
) Hypovitaminosis D

(3) Hypervitaminosis B
) Hypervitaminosis D

Options 1. 1

2.2

3.3
4.4




Q.70

The medicinal plant employed in female infertility :

(1) Evolvulus alsinoides

(2) Evolvulus nummularia
(3) Ipomoea aquatica
(4) Ipomoea mauritiana
Options 1. 1
2.2
3.3
4.4
Q.71 . 3 . 2 X
ThS epdlanauiler ‘CabLy 58 2 @Terg ?
(1) eyt
(2) 2 gsmoentl
() Eple
(4) s
Options 1. 1
2.2
3.3

4.4




Q.72 . .
&HUTETOTS GlameTerliL(heug)

(1) e B
) <bbm B

(3) uefl Bir
) espm B

3.3
4.4

Q.73 udlermen@ Geussdd gearmrar “OariLred” -ow smL Qaliaigre GgmermD
@M@ansda Shssar_supmer org efluimeng ?

(A) eawrey Geflumeno

(B) =y Cuis

Q) seaw fleussa

(D) & &M GMLFFD 6uadl

(E) Qe

G Qer@ésiu Hater wrHn el safladlmhg sflwrer ellmiamu Ggfla) Gaiiwab.
(1) (A) (D) only

(2)  (B), (C) only

(3)  (A), (B) only

(4)  (E), (B) only

Options 1. 1

2.2
3.3

4.4




Q.74 Qummsgs

Ul iguied - I il iguied - 11
(A) Sipsanad] Hgsi M Spsrerss
(B) armdlur HAssw (I)  Smeneuwimm)
(O smayrri fAssT (1) mraliuig e
(D) @slGul Agsm 1V) msHralf

ECp QarRésiiuc Rearar wrpm elenLsaflembg #flwrear efenL_amw Qsfla) Qeliwaid.
M (M-, (B)-), (-, (D)-(1V)
(20 (A1), B)-D), ©)-(D), (D}-(IV)
(3) (A, (B)-(1V), (C)-(1), (D)-(I1)
(4 (A)-IV), (B)-(D), (O)-(1D), (D)-(IL)

=

Options 1. 1
2.2
3.3
4.4

Q75 Qu T(H& SIS .

Ul iquied - I Ul guicy - II
(A) penseundl euold O wpgifledr T, to Ty cuany o ameng)
(B) Guomfl Qummga ufolb () W samge. &fms aumngdar CuGe
o _dreng
(O) eri@iLcvogy aufiolb 1) aperr QEoo UGHudaidrarg
(D) mLEL e elifold 1V) L@ SrlendE e Yo 2 dreng

Qar@ssiiul_@erar wrhn elensaialmbs Fflwurear eflenlamw Gsfle) QEuiuiab.
M (AAD, B)-I), ()11, (D)-(IV)

(2) (A, ( -(IV), (Q-), (D)-)

(3) (AL, (B)-(IV), (O)-1). (D}-(ID)

(4) (A1), B)-(), (©)-(IV), (D)-(I)

Options 1. 1

2.2

3.3

4.4




Q.76 Match List - T with List - II.
List - I List - II
(A) Green stick fracture (I)  Fracture does not communicates with outside
(B) Pathological fracture (I)  Bonme is broken into three or more than three fragments
(C) Communited fracture (IIl)  Fracture in children
(D) Closed fracture (IV) Fracture in hyper para thyroidsm
Choose the correct answer from the options given below :

(1 (A, (B)-(I), (©)-0). (D)-1V)

(2 (A)-D), B)-@), (O)-1V), (D)-(1m)

(3)  (A)-(LD, (B)-(1V), (O)-1), (D)-(1)

(4 (A)-(V), (B)-(T), (O)-(), (D)-(IT)
Options 1. 1
2.2
3.3
4.4

7 wwipd &6 GlgBfla Gamib Foul@umaneT erg ?
(1) CarGrreener
2) v
(3) e Ly
(4) sevg
Options 1. 1
2.2
3.3

4.4




Q.78 GQuan® somsdr $CGp Gar@ssiiul (Rderar.  oeuDmEr @erm, = miduirer
samorsa|D(A) wHEDTeTy sryemorsaD (R) o drerer.
apm :(A) 1 e0d9HE @eafliy sy
amyentld (R) :  <ygallam, o Uiy seneu CararCeunisg ume CerGp usdwuib.
@oen oigliuaiuiiae ECp Lar@assiul Herer wrpm aflen L safledmbg Filumar
allememw GQgfley Qaliwab.

(1) (A) wpmb (R) Grew®b &f. (R), sabm (A) eflen sflwnar eflatéswnmEib.
(2) (A) womb (R) Grawr@id #f, <emme (R), sapn (A) efler sflwrer efergsnae.
(3) (A) &M, syemmad (R) Heum.
(4) (A) seum, <perme (R) il
Options 1. 1
2.2
3.3
4.4

Q.79 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : IgG is the only maternal immunoglobulin that is transported across the placenta.
Reason (R) : IgG provides natural passive immunity to the newbotn.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options 1. 1
2.2
3.3

4.4




(B)

1)
@
3)
(4)
Options 1. 1
2.2
3.3
4.4

(A)

©
(D)

Q.80 @ T(HS SIS,

Ul iguied - I uliquien - IT

uafliig Bir (O  &9yewr Gusbd

(pener Bir )  SmEr srenp elpder smmy Cumed B(HEGLD
FegTemT Loewr (B (IIl) gppmamriged Gl&TEEYD

S(LpHiT av) @rellaé Gum@gh B Blasabd Lmd CuTws STENLD

ECp Aar(ssiiul_(Herar wrpm ebenLsefledmng #flwrear el amw Qsfla) Qeliwabd.

(A)-(I), (B)-(IV), (C)-(T). (D)-(T)
(A)( 1), (B)-(), (O)-(I1I), (D)-(IV)
(A)-(IV), (B)-(IM), (O)-(0), (D )(H)
)-( 1)

(A)-(I), (B)-(IV), (C)-(D), (D)-(

Q.81

M
(2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Gran(® smpped $Cp Qsr@ésiul Héarearar.
gamm (1) : Qeunbggin, Cousnsg)orear o arellamen LAGsrad igamear srygGasT{HLb

gal Geu Gafils@n osdleianw eflagomsdlefl eremui.

gamm (1) : o amamr iUl L emeusanar 2 L Gar Sranlldsmod QpHEHID & 0&g5

Qeflindsseme elagorsdlefl erar,

@sear sqlumiuia &6 Gar@ésiiul erar wrHm eflen L safled (pBhg @ifluimer
eflenLenw Gsifley Galiweyn.

spm () whpd spm (1) GrarGo sl
gamm () wHmb sanm (1) GrawrHib Geum).
ganm (I) afl, e sanm (1) Feum.
ganm () seumy <yema gapm (1) &




Q.82 Qran® spnsdr $CGp Qar@ésiu Hdrerar.

aanmm (I) : Sanamaet LDH DeugTed ThEFHS CHTUSGEHT 2 6WTL_MGLD CTETLMS
<Sjlwemb.
aamm (1) : Caenquit geng mre Gaenquii wins Qeusruneia GG sl sanammi

umfl efleuflgg)ererm.
@asear sgliumLled $Cp dar@ésuul(herer wrhy eleLsafledmbg &flwmer
allenemw Qgfley Qelwab.
(1) sabdm () wHmbd sanm () Greav@Hn &l
( gamm () wHmb sanm (1) GrarHib seum.
(3) smodm (I) oM, yermd sapm (1) eum.
( gpn () seum <yeme apm () &

Options 1. 1

2.2
3.3
4.4

Q.83

Match List - I with List - IL.

List - I List - II
(A) Achyranthes bidentata (I)  Aristelochia indica
(B) Kidney stone (I) Red variety of achyranthes
(C) Eye disease (III) _Aerva lanata
(D) Snake bite (IV) Alternanthera sessilis

Choose the correct answer from the options given below :

(1) (A)-(1), B)-11D), (©)-(IV), (
1), (B)«(1v), (O-(D), (D

(

(2) (A )-(I0)

(3)  (A)-(IV), (B)-(T), (O)-(II), (D)~(III)

(4)  (A)-1), (B)-(), (O-(I), (D)-(IV)
Options 1. 1
2.2
3.3

4.4




Q84 Qe smpmse G AsrRésiiul (Hererer.
gamm (I) : Aenerr smapradl L Sssb smmd, Anss Qumiissomn@o.
gamm (1) : Slenan smeydpred Ussd smhsmod, Qulldssnrs QSTLThE euam(mnL.

@z glinmiwila &G Gsr@ssiulferer wrHm elen L safled BHg &flwmer
slenanw Qsfle; Gaiwayb.

(1) smdm () wHmd s@nm () Graw@Hn &l

2 spm () wpmd spmy () GramHn seug.

(3) @mpmy (O) o, ered smpm (1) Geum.

4  smpm (1) seum, <enmed gmpm (1) e,
Options 1. 1

2.2

3.3

4.4

Q.85 Given below are two statements :
Statement (I) : Elevated levels of IgE are seen in atopic conditions.
Statement (II) : IgM is the first immunoglobulin produced as a primary response to an infection.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
Options 1. 1
2.2
3.3

4.4




Q.86

(1)
(2)
(3)
(4)

Options 1. 1
2.2
3.3
4.4

umbyé sigulled gru Ceussdnarer HbEH 6TE ?

(PEPLILITE BEIWILD

@atimus slyow dnbile smrss pSwibd
glerél gmm BEWLD

Qpradl gefl rm WD

Q.87

SAESS SSGIUD’ GTEHDaT ?

(1
(2
(3
(4

Options 1. 1
2.2
3.3
4.4

24
26
36
30




Q.88 udGoum flés WwmSHer BIOsald snlil (Hemer L smur® 2 drer 2 0.
(A) esdlamyd
(B)  umenmujiiLy
(Q soginy
(D) swiSuyliy
® @psoy
ECp Qar@ssiiul_Gerer wrpm e salledmbs eflwurar edenLeamu Csfley Gediwe)n
(1) (B) and (C) only
(2) (A)and (B) only
(3) (A)only
(4)  (F)only
Options 1. 1

2.2

3.3

4.4

8 o FRIGTEHLD M6 Lilg, cueall GCeussdled sramid @HEGenrid :
(1) 216 apupeugid eNlmiesmisaEn

2) =85 elwiiencu

3) s@me BHBEGD

4 B 5055 Qrashd
Options 1. 1

2.2

3.3

4.4




Q.90

“CrraE 9550 -ararug @gem Geum GLwFmELD.

(1) &rgswD
(2) umEsLD
3) <=,Carasn
(4) Yygresid
Options 1. 1
2.2
3.3
4.4
Q.91

Match List - I with List - IL.
List - I List - II

(A) Blood agar (I)  Transport-media
(B) TCBS agar (I)  Anaerobic media
(C) Stuart’'s medium (IIT) Enriched media
(D) RCMB (IV)..Selective media

Choose the correct answer from the options given below :

(1) (A)-V), (B)-(ID), (9D, (D)-(1I)

(2)  (A)-(II), (B)( (©)-(@v), (D)-(I)

(3)  (A)-(ID), (B)-(II), ()(IV (D)-(D)

(4)  (A)-(IID), ( )-(IV), (O)-(D), (D)-(ID)
Options 1. 1

2.2

3.3

4.4




Q.92

“Msg Crmi”, ererugl ergen Geum Gluwim ?
1) wewenyed Grml

2) Y&s Cpmi

(

(2)

(3) &momame CHT
(4)

o euullmy
Options 1. 1
2.2

3.3
4.4

Q.93 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Tree turmeric is used in wound healing.
Reason (R) :  Berberine is present in coscinium fenestratum.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
Options 1. 1

2.2

3.3

4.4




Q.94 GQuran® somsdr $Cp Gasr@ssiiul(Rdaretar.  SeuDmEr @erm, 2 miduirer

Sahorse|bd (A) wHGmrerm srremorsa|bd (R) o 6Terer.
apm (A) :  sHUYS sflFsdld i @HpL WiEhs sraub.
smyeurd (R) :  s@ULs sfldsdle seaemeameie W@hs eung @nnsans seralamea LRSS

weer wsdley HApproeardE eanearuida HAlg urd smig

QarhHssamb.

@ser siglivmLwla &6 Qer@ssiul (Herer wrpm el seled mbg &iflwmer
eflenLenw Gsfley Galiweyn.

M
(2
(3
4

Options 1. 1

2.2
3.3
4.4

(A) whmd (R) @rar@id &, (R), sapy (A) eflar sfwran elerdsorEib.
(A) bpmb (R) @rawr®in &fl. (R), sanm (A) efler sflwner eflerésinaa.
(A) &l e (R) seum.

(A) geum <perme (R) &

Q.95

“@Lb swub” Cpruile r&@Gnnh (poetenwwns Urdlssiubdng ?

(1)
(2)
(3)
(4)

Options 1. 1

2.2
3.3
4.4

cuelfl
P&
gD

QUG <21 Lped




Q.96

Cpmis e, Qpoadlutingd @b wmbsTEng.

(1) &7 WwrBSLD

(2) Guni MBS

(3) <ASST MBSO

(4) s WLIbBSHD
Options 1. 1

2.2

3.3

4.4

Q.97 2Plgrdlad apallenauden eThg LIMaD sHULTED Lwer LESSLUHEEeMmg ?
(1) Geurir
(2) &llens
B Qoo
4 Y
Options 1. 1
2.2
3.3

4.4




Q98  Aaertieuuie gHu@D snAssas QnHBT sarms Lflaflssred e erhu®n urdiy

eremenm ?

(1) Garm&e Cumo
(2) Geu@npliy Comi
(3) s@EUeU LD
(4) pBTT ZeEF SLlg&aET
Options 1. 1

2.2

3.3

4.4

Q.99 ussaurs Cpmule Srm Hlevavser :

(A)  soeser eflewnsgl STemre)

(B)  parsE@nss GLg ypb urssd

(O  QuensErdE euag Lpd LTdsse

(D) & sred BHHEIEGEHD

(B) CGué&s: @aandmsse

&G Qarpssiiulerer Gofleysaiadmbg eflurear ellenLamul GCaibg ThEseb
(1) (E), (A) only

(2) (E), (D) only

(3) (B), (D), (C), (B) only

(4) (B} (C), (E) only
Options 1. 1

2.2

3.3

4.4




Q.100 Sipssenm_aunmier Lallds sult Garn oidlab 2 e sma arhu@D BEps G Een i s@ns @

apiley erg ?
(1) &rs Gubr
2 amss sOG Gubi
(®) @w Gybi
(4) Gargswadd elams Gl b
Options 1. 1
2.2
3.3
4.4
Q.101 . . - ’
Hw eremllesr (Humerus) S SibSD @)enamriid 6UILIF).
(1) 19 cuwg
(2) 18 cuwg
(3) 17 auwg
(4) 16 euwig
Options 1. 1
2.2
3.3

4.4




Q.102 s menel W(ESFIeUD LSSHSEl6m Lilg, S lysEndsTer whigeusda sflurareuneann
Caih0s[Hése|h.
(A) slgew wepwbd ug Qeuw sligamu &l @il amu efL .
(B) &ligser Lps@bn Gungl, Flgwnd Gogleug Gurearm Gougamer S(mb.
(O slugsdar Lwpss Yer, grGar 2 anl_bHgelHim.
(D) < eupd e, £ eulgselem srewriiuHib
() daenels yawraar, LengGumly. LIG(PSHEISET 2_ETeT L|aTenrma: Lomm @uiey|b.

ECy Garpasuulfarer wrbm efenLsefelmbg #flwrear elean e Ggfe] Gaiwab.
1) (B), (C) and (E) only

EZ) (A), (B) and (E) only

() (A) (©) and (E) only

(4) (B), (C), and (D) only
Options 1. 1

2.2

3.3

4.4

1% Qe8 -1 anpudri (UM e MbS) eTaTClamTENIS &aurL s,
(1) &Lme eTeuTllamil
(2) eTeT eremTleRT
(3) U(BSS) eretorlemrii
(4)  eflemal s e e
Options 1. 1
2.2
3.3

4.4




V1% Qs ‘@hpLD wrTLE sellew soIiusHE 2 saHaTng.

1) <=ffs seu0

) Gangianos sai®
(3) yamsdlane
) Apr&s @enev
Options 1. 1

2.2

3.3
4.4

Q.105 EipeumeuaTeupmIaT e1hg uands g Grmi LREmaudd s pramms &L EEsTTE@GID. eILg)
(A THCHTTEHED cU(HLD ?

(1) @By AGa [Hwb

(2) eflary HACal (Hwwd

(3) us ACew (Hwb

4  opubenll Gl Hoid

Options 1. 1

2.2

3.3

4.4




Q.106 “arsdCw dfwmon 9 M wrTEsD

gndleamm eurdlybsrer sHUBSTCET -6eTamD Fadm WT(HenL Wigl ?
(1) cpeTenal

(2) &m& Yysewrim

(3) Sleu eursdwir

(4) &Llywenflur @pmeid

Options 1. 1
2.2
3.3
4.4

Q107 gaeumuedicr giLgdaidrar eisssms, LoCpril b wronsed ophg airueiear
Ggmfe ?
(1) &wrerer
(2)  umeTET
(3) e gmremer
)

(4) eflwranar

Options 1. 1
2.2
3.3
4.4




List -1

Q108 1 ratch List - I with List - IL

List - II

(A) Foramen Rotundum (I)  Glossopharyngeal nerve
(B) Jugular Foramen (I)  Spinal accessory nerve
(C) Foramen Magnum (IT) Pudendal nerve

(D) Greater Sciatic Foramen (IV) Maxillary nerve
Choose the correct answer from the options given below :

(1) (A1), (B)-(IV), (O)-(IL), (D)-(11)

(2) (A1), (B)-(I), (O)-(IV), (D)-()

(3)  (A)-(V), (B) ( ). (O-(1D), (D)-(II)

4) (A1), (B)-(D), (O)-IV), (D)-(I)

Options 1. 1

2.2
3.3
4.4

Q.109 QummsgHs

[WTTATH= VI |
glevent LMb!

(A) uvselflen sudm I)

(
(B) u&ellem Limed (I
(©) useller Gmw (1)
(D)  uemhisET (v

=

(A)-(), (B)-(1), (©-(1D, (D)-(IV)

(1)

@ (AHY), (B) (IH (O)-(1), (D)-(1)

(3) (A1) ( ), (C)-(IV), (D)-(II)

(4) (A1), ( ) (©)-(1), (D)-(1I)
Options 1. 1

2.2

3.3

4.4

(psg LnusHer genan WEHSIGmETLD, S Crmisamerb sflwrs GuTmes).

uliguiey - II

S Crmw

Hss, eumsg Gum euudm
LD

Cardl, Ay

) <D6mLD

ECp Qarpasiiuc_Harar wrhm) aﬂml_a;@ﬂs&@,r_r;gu sflwrer eflen_enw Gsfley Gelwa)b.




Q.110 Bilfle; Crmuiledr ghuBd Gom, el Campur@samern auflasliLuBssea|b.
(A) smwb saraflenauie GCaLeanL g
(B
(©
(D
(E

=

E1p Cpré@hstd urdlumL s

—

Fg(p 2L Dasl(haar garmer Wer gearmml Cahsa

LdE5E Qsdga

) eursd wHmb 9S50 sarallamauiallmhs Gnpsd

&Gy Qar@asiuc Herar wrpn e seidmba eflurear eflaLmw Qzfley Qaliwayb.
(1 (A) (B), (), (D), (E)
(2 (D) (B,
(3

~

[y

) (B), (A), (©)

3)  (B) (D) (E) (A), (©

4) (D), (B), (A), (E), (©)
Options 1. 1
2.2
3.3
4.4

Q.111

The type of fruit present in Rutaceae family plants :

(1) Pome
(2) Berry
(3) Hesperidium
(4) Drupe
Options 1. 1
2.2
3.3

4.4




Q112 GQuran® somsdr $Cp Gasr@ssiiul(Rdaretar.  SeuDmEr @erm, 2 miduirer
saporse|d (A) wHGnrerm sryemonse|bd (R) 2 6rerer.
s@mnm (A) : wer LHFSTID, AF WHSTID, elgar LHSTTD WOHMLD WFET HSTTD

Gremianed e GHBMUSET D@D,

smyentid (R) :  @eneu wenp Guosd Ggrermibd GUIE THULE Snlg LIGnel G,
@asear sgliumLled $Cp dar@ésuul(herer wrhy eleLsafledmbg &flwmer
allenemw Qgfley Qelwab.
(1) (A) wpmb (R) @raw®n sfl. (R), sabm (A) efler sflwrer eflerédsnmELb.
(2) (A) bOmb (R) @raw@in afl. (R), sanm (A) efler sfluner aflerésinea.
(3) (A) &l =ypammed (R) Seum.
@ (A) pouy pammed (R) el

Options 1. 1

2.2

3.3

4.4

Q113 @ranr(® empmsar $Cyp Gar@Bésiul (Hearearer.
gamm (I) : ahs elsworar Qeueflombgsamer epmEarTgd 2 @D mbS
Qarh&arellipd Cas s 1s6T @Gl cUs). SlyeD.
gamm () : Guos Bmé@s andlemer 2 6r HhgIsT BGs &g H(@hdE LILETL Tg)
@sear sgliumLlae §CGp der@ssuul erer wWrpm ol sallad®mbg &flwmer
elleanw Ggfey Gsliweb.
W) @mbm () whpb mbm () Grar@b o,

(@) spm () wHmD Fpy (1) GrawGo sam.

() smpp (1) o, e Empy (1) s,

4 spy () seum, pemed &mpm (H), Fl.
Options 1. 1

2.2

3.3

4.4




Q.114

Flrdled 3y LILIg) TG DL BIGH6D ?
(1) GummiuL ks
(2)
(3) LLeULMmIGS
(4)

Options 1. 1
2.2
3.3
4.4

S LDSSL_MBI&ED

2 &8 g WL BISQ

Q.115 QummS s

U igwed - I Liiguied - 11
(A) @rss Cumer mEss (e ) Geumblenand &mH&h
(B) Camyést epedlens beha (pdlay M  shésnn Gsre @gBim
© prd pess apley (M) Guygsms @b
(D) erilig BEha piley (IV) ‘etmrenplililenL gmm)

&G Ger@ssiu erer wrpn eflenLsafladimbg sfwurear efleaw CgMey Galiwad
(1) (A)-V), (B)-(), (O-(1D), (D)-(I)

(2) (A0, (B) (1), (C)-(1), ( )-(IV)
(3) (A1), (B)-(ID), (C ) (D)(
(4) (A (HI) (B)(V) (©-(), (O)-(1
Options 1. 1

2.2

3.3

4.4




Q.116 Qummsga

U iguwed - I U iquiey - IT
(A) wrliueRTL b ) Cuomr
(B) &eorr () wmed
Q) Csrgieno 1) Geupdi
(D) =dls Gauemer Qe (IV) @eaflibg B

ECp QarRésiiuc Rearar wrpm elenLsaflembg #flwrear efenL_amw Qsfla) Qeliwaid.
(1) (M), (B)-(1), (©)-(D), (D)-(1V)
(2)  (A)-(1), (B -1, (©) IV) (D))
(3) (A1), (B)-(1V), (C)-(1IT), (D)-(1)
(4) (A)(I)()(IV):()( 1), (D)-(I)

=

Options 1. 1
2.2
3.3
4.4

Q.117 QurpsHs.
uliguwie - I Ul iquied - II

(A) o gsmoafl aanGeami (1) < &Ib

(B) 2 dgmoant @qBir ()  sewr IBSLD
(©) e ggmoeail srgb (D) oL Gurd siflésn
(D) e ggmoent Glpw vy Gumr LDrrt'm_ng

Qer@ssiu_erar wrpm o salldlmng eflurar doLmu Asfle) Qeliwea)b
(1) (A1), (B)-IV), (C)-(D), (D)-(1)

@ (-, ®-0, ( -IV), (D)-(1I)
(3)  (A)-(ID), (B)-(1), (O)-(IID), (D)-(IV)
(4) (A, (B)-0V), (©)-(L), (D)-1)
Options 1. 1
2.2
3.3

4.4




Q.118

GCorenev LO(MGGUTHGLD Fenel 6Tg ?

(1) evsUy

(2) yefliy

(3) glauiiy

(4) o eumly
Options 1. 1

2.2

3.3

4.4

QM9 gam améses Qewffe, emasbured wHmD oL Deudaer amelar ofdsh
GTEUGUGETEY ?

(1) 4:6
(2) 1:4
(3) 2:4
(4) 4:1
Options 1. 1
2.2
3.3
4.4




Q120 ‘o EpEFELS@ID, @mErbslsab amrea’ eaam Qewud caamss Ghadns ?

1) smuGlumrmer

(

(2) @suummer

(3) yowuGummer

(4)  umLQuTmeT
Options 1. 1

2.2

3.3

4.4




